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General Instructions :

(i)
(i)

(iif)

(iv)

(v)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question

carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these

questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these

questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After
completion, attach the map inside your answer book.
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1A.

1B.

1C.

2A.

2B.

fohE 8 qehrter 3 TTfyd EF 9§ 3is WU B el @ a5l hl gi-g 9o o STl
e g3 ?

(@) SIS (b) e H RiEsEE

() (d) HXER

Which new invention made it possible to transport perishable food over long
distances?

(@) Ship (b) Refrigerated ship

() Ferry (d) Motor - boat
37ET/OR

d & Frefafigd T | 9 fg o vsell Sie firar wonfua =t 78 ?

(@ SR (b) et

() "= (d)  TREE

In which one of the following cities the first jute mill was set up in India, in 19177

(@) Bombay (b) Calcutta

() Madras (d) Jamshedpur
37eET/ OR

frerferfed o 9 e Jeed et 7= § 2

(@)  “heferdl (b) ~ We™

( = (d) T

Which of the following is not a presidency city?

(@) Calcutta (b) Madras

() Bombay (d) Lucknow

91871 # T=fafead § 9 frea emfr forat ?

() 3R T (b) I Fo

(c) .31 THRamt (d)  wrfEE

Who among the following wrote Gulamgiri in 1871?

(@) B.R. Ambedkar (b) Jyotiba Phule

() E.V. Ramaswamy (d) Kashibaba
3IU4AT/OR

freferfaa s & 4 frad snfa g 1 <) 1 T 272

(@)  EgerEn (b) G gM

(c) I (d) gl fafsEm

Which one of the following novels deals with mountaining a strong attack on
caste oppression ?

(@) Indulekha (b) Sultana’s Dream

() Padmarag (d) Saraswati Vijayam

IRA o Hol 9 & 1 a1 fewn W a1 6 ot ST © 7

() < faeE (b) TH R

() TR (d) = herd

How much the total forest area of India comes under the protected forest?
(@) Two third (b) One third

() One fourth (d) Three fourth
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10.

TG B TG HI <l ST S ©

(@ e (b) 3 (@ He (& FF=
Shifting cultivation in Chattisgarh is known as :

(@) Dahiya (b) Dipa

() Penda (d) Kuruwa

Afesem & vt yew # frfafea amel § § i e ged: el S g2

(@) =d (b) W () S (d)  sfush
Which one of these languages is mainly spoken in the Flemish region of
Belgium ?

(@) Dutch (b) French ()  German (d) English

frefafad <o & @ S are SRt €1 % GeaTg bl STTER0T &) hidl & ?
(@) W@ (b) TH () dfcsEm d)  efeEn

Which one of the following countries does not follow ‘holding together’ style of
federalism?
(@) India (b) Spain (c) Belgium (d) Australia

frefafea # @ &9 afeasti & o =) # s1gRfard aFm 82

() = e (b) M

( I d) aaf

Which one of the following makes the women unsafe within their own homes?
(@) Domestic violence (b) Exploitation

() Harassment (d) All the above

frefafaa Jredl § & e e fashe e TR Far e ?

(a)  FAR.TH.UE. (b) T3

) fawas= d)  FUAELEL

Which one of the following organisations has prepared Human Development
Report ?

(a) IMF (b) UNO

() World Bank (d) UNDP

fafie <9l % anfiereor § fava S& gr1 fr=fafea § @ fea ger ameve 1 3w fha
ST & 2

(a)  9fd =Afw 3T (b) it g

()  Waal R d) WA ER

Which one of the following is the main criterion used by the world Bank in
classifying different countries ?

(@) Per capita income (b) Life expectancy

() Literacy rate (d) Health status

.21t w9 1 wfed wrf frafafaa § & fora st gr for ST 22
@)  HEmEd (b) TR Wi

() = WER d)  TF &R
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11A.

11B.

11C.

12A.

12B.

13.

14.

15.

16.

17.

18.

The mammoth task of measuring GDP is taken by which one of the following
authorities ?

(@) Panchayats (b) Municipalities

() Central government (d) State government

IeNell Tt H 9Ra A fava srefereen § fhq yer FMuiaes yife i ©7 Semeon
Hfegd T S |

How did India play a crucial role in the 19t century world economy? Explain.
3@/ OR

iU § HUS % GRARI A o1 STEfie =Ror % SRE 1 fhar? T wifs

During the proto - industrial phase what did the merchant clothier in England
do ? Explain.
37ET/OR

TS h! W 1 HeIY HEwqUl e /| HH] Sl 41?7 IH hR0 T HifIC |

Why was Bombay considered the prime city of India? Explain three reasons.

e 3 T TR e F R St i w17 A Sereil gfed T Fi

How did books create new culture of reading? Explain with three examples.
3IYAT/OR

STSNE! Fal JUT H STATH i ATRIIFAN o fohrg] qI RN Rl ST HIIT |

Explain any three reasons for the popularity of novels in eighteenth century

Europe.

Tl S ST- R STENT T e TS Sl SgEn §1'' 39 U @t i fergal
BRI ~ATIEITd HHIET IS |

“Indiscriminate use of resources has led to numerous problems”. Justify the
statement in three points.

URT H o1 o B & SIGEE (el i hehl ohi SATEIT ShifTd |

Explain any three factors that are responsible for the depletion of forests in India.
TgSERia ufEeHed iR =« & fmior @61 sga @ ot 3 oy o=t e 22 d=
R T HiToT |

Why is the construction of multipurpose projects and large dams opposed by
many people? Explain three reasons.

T 9 STl HHIEH] h1 GI&I0T | AT =EU ? <hig dIF ShIUT TI hiTSIT |

Why we should conserve our water resources? Explain any three reasons.

T R ARIGR! i STEvde § 2 fue S T o RN Sl AT FIfT |
Why is power sharing desirable? Explain different two sets of reasons.
AR fa4TSH < Tohial T fagell ol Seerd it |

Mention three points on the cross cutting social differences.

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

1Y2+1%2=3

3x1=3
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19.

20.

21.

22,

23A.

23B.

23C.

24A.

24B.

25A.

25B.

26.

aifSes faueHl ot TeHifa & aRomEl B fuiia e a1 Rl i S 3x1=3
FHifTT |

Explain the three factors that determine the outcome of politics of social divisions.

A foreht Yarshish i Hedl dF fog3tl | fafau | 3x1=3

Write the importance of human development index in three points.

T=HE USRI I &1 QRN | Udh TR & 9 IR gEd umier & 9 <o, T 12+1Y2=3
HIFST |

Explain disguised unemployment with two examples, one from urban areas and
other from rural areas.

STETod & o AT o1 TET0T ohd 812 SUYH IQRLUN h T1e T R | 3x1=3

How to protect workers in unorganised sector? Explain with suitable examples.

foea 1 STefaET T 1929 - 1934 i HEHE! & GUTE! ol T HiTIT | 5x1=5

Explain the results of the Great Depression of 1929 - 1934 on world’s economy.
31981/ OR

Jeireell 9l o wEFl § WEientd afterdal st fd w6 ot 2 wiE 9 R e
HIfST |

Why the technological changes were taking peace at a slower pace in the factories
in 19t century? Explain any five reasons.
AAGT/OR

et T o § wfeenet 1 ey ) T SR 5x1=5

Explain the position of women in Britain in 19th century.

I H afafad augfaftat 1 SceT YRR il 7IT i G R TS F Hhl 2 TR 3+2=5
! St 7T 0t gfd frd geRR g3 7 T SIS
Why the production of hand written manuscripts could not satisfy its demand of

book in Europe? How the growing demand for books was met out? Explain.
379187/ OR

‘TgAET’ I AEH D ¢ 2 IH STATE Fi TTTIAE hi AR Hifaw | 1+4=5
Who is the author of ‘Indulekha’? Explain the theme of this novel.

5x1=5

‘g GRS SR % ST ge uRfefaal W' ui qeh SR 39 HUE @i 5x1=5
gfte SifsTe |

“Print culture created the condition within which the French Revolution
occurred”. Support the statement by giving five arguments.
31UAT/OR

TN ISTIH ST 1 WGk hid & ? 3Tkt faw a%g o1 99 Hifew | 1+4=5

Who is the author of novel ‘Saraswativijayan’? Describe the theme of it.

Fit & e Sceq | 9Ra fova &1 vl 3caes IR faides 2w €27 39« S & 1+4=5
faq sTrereaes siRiifere gened &1 aviT Sifsw |
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27.

28.

29.

30.

31.

In which agricultural production India is the leading producer as well as exporter
in world? Describe the geographical requirement for its growth and
development.

Fg R Tl & Sire ufeal frd ger faanfsra =t 7€ €7 Serul |fed T iy |

How are the powers divided between the states and the centre? Explain with
examples.

ad | gfgctsll & o fvd YR A fwan S 3R 9 oy ot feafa § 728 el ?
TN |fgd T Hifwrg |

How are women discriminated and disadvantages in India? Explain with
examples.

2 3T9dl & SYANT Fl KL & 7 F1 THGh SUAN hi ke G 8?7 oAk O grafed
T ISR TR, fareror ifsu )

Why do we use averages? Are there any limitations to their use? Illustrate with
your own examples related to the development.

T & § ISR 1 2Afash gor fhe Yehr e s wehar €7 oie Sugad Sereeon
i AeE ¥ T Hif9T |

How to create more employment in urban areas ? Explain with the help of five
suitable examples.

()  feu gu viRa & THifaes @mHta 7 (A) 3R (B) R 2 @& fafed fee o
€1 e & TR SRR o SR W 3 el ki qe=H o ’Efes W d e
sl WS A fafa
(A) IR THR
(B) g ScUISH &7

(@) Two features A and B are shown in the political outline map of India.

Identify these features with the help of following information and write
their correct names on the lines marked on the map.

(A)  Soil type
(B) Wheat producing area
(i) S AEfaE W @ frefafed w1 Suge d@adl N SR T TR wEl AW
ferfa .
(C) T =Y
(D)  ThI T STUUT IcUTEH T
ii On the same political outline map of India; locate and label the followin
P p &
items with appropriate symbols:
(©)  Salal Dam
(D)  Leading producer state of maize

5x1=5

5x1=5

1+1+3=5

5x1=5

2+2=4
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qie : Fefafea w1 S gie sifua qdenfo=l & fae o9 9ea 31 & = W E 4x1=4
(31.1) Rd % fohE & § TIeXiee o1 §&d €9 9§ UE St § 2

(31.2) wisie T M fohm T4 § feorq €2

(31.3) Gare sty fohg T H feera 872

(31.4) WRA H TaeR1 o STV ScdGeh od 1 A oY |

Note : The following questions are for the visually impaired candidates only in
lieu of Q. No. 31.

(31.1) Laterite soil is mainly found in which region of India?

(31.2) Corbett National Park is located in which state?

(31.3) In which state salal dam is located?

(31.4) Name the leading producer state of maize in India.
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